40 1,240

1/1,185 1/160

TR TR NL SR TR IR IR T TR AT R TR ERL FN TR ETAT ST R T NI NI TR T INNE SR TR TR I NI RN AT RN E T I E RN TTI R TR ERTY RET NI RT TR E R IR I TN TR TN TR R TR IRRTINNTRIRRTRIRNTITINT]

=
= 3
S ]
&g
38
S
141
=
v
&
g
[ =
<
| |TES
= e
ES S
5 3
S o
s s
& |
=z
2
-
15
0
el
&
3
0
oc
[--
]
=
S
~
S
=
=
2
g
1 el ___
WS
&
[
| il el
=
=
2
S
1m —_
HizEal -
2
=28 <
O =
o
n
1l % L[_ -
&
g
T .
o o o
Lo o Lo
(S=} o ~

700

200

0¢ce

0T¢

00¢

067

087

0.7

097

0§57

(2

0€T

0¢1

017

001

06

08

0L

09

09

oy

0¢

0¢

07

m

[T
TR TS S RN S Cadty T (RN
J\J FVM ,\,vav\,»wwwﬂn me”wmwwq\www\f“wwwwwwwmn\f T

T

km

-

[Tl

-200|
-400
-600




@

40 500

1/160 1/700

)

60 300

1/380 1/650




3

2 1 1/560 1/1200
190 1240 18
900






